

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 1, 2024

Progress Estimate Number	Contract ID	240517-B01	Pay Period Start September 16, 2024 Original Contract Amount \$15,426,147.6	31
7	Prime Contracto	or KCI Construction Company	ny Pay Period End September 30, 2024 Net Change Order Amount \$0.00 Current Contract Amount \$15.426.147.6	31
			Current Contract Amount \$15,420,147.0	וי

Approval Date		By User
October 1, 2024	Generated and Approved (and should be considered Draft) at the Project Office Level by	bichsc1
October 1, 2024	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	baxtem1
October 2, 2024	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
October 31, 2025	October 31, 2025		21.93%

Contract Informational Dates Milestones

Date Description	Original Completion Date	Current Completion Date
Acceptance Date		
Awarded Date	June 5, 2024	June 5, 2024
Letting Date	May 17, 2024	May 17, 2024
Notice to Proceed Date	June 20, 2024	June 20, 2024
Open to Traffic Date		
Work Began Date	June 25, 2024	June 25, 2024

Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days
Milestone - Completion Date - Complete Stage 4, JSP P	October 1, 2025	October 1, 2025	364	
Milestone - Completion Date - Stage 1 and 2, JSP O	December 15, 2024	December 15, 2024	74	

Contract Total Pay For Estimate No. 7 To Date This Estimate Previous 240517-B01 Total Posted Items Pay \$965,694.25 \$2,417,085.57 \$3,382,779.82 \$277,412.81 \$0.00 (\$27,040.00) \$35,000.00 \$0.00 \$250,372.81 \$35,000.00 Gross Item Adjustments Incentive Disincentive \$0.00 \$0.00 Liquidated Damage \$0.00 \$0.00 \$0.00 Other Contract Adjustments \$0.00 \$0.00 \$0.00 \$2,694,498.38 \$3,668,152.63 **Contract Total Payable This Estimate:** \$973,654.25

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J2P3043	0060	2035500	EMBANKMENT IN PLACE	CUYD	\$24.000	500	\$12,000.00
	0800	2063000	CLASS 3 EXCAVATION	CUYD	\$4.000	105	\$420.00
	0100	2065500	TEMPORARY SHORING	LS	\$45,000.000	1	\$45,000.00
	0140	2163500	PARTIAL REMOVAL OF CULVERT CONCRETE	LS	\$55,000.000	0.5	\$27,500.00
	0150	3030600	FURNISHING ROCK BASE MATERIAL	SQYD	\$16.000	7,025	\$112,400.00
	0160	3030610A	PLACING ROCK BASE	SQYD	\$6.500	7,025	\$45,662.50
	0210	5021310	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	SQYD	\$82.500	1,755.4	\$144,820.50
	0310	6091052	CURB AND GUTTER TYPE B	LF	\$28.000	2,158	\$60,424.00
	0390	6097000	ROCK LINING	CUYD	\$102.000	2	\$204.00
	0420	6122009	IMPACT ATTENUATOR 45 MPH (SAND BARREL ARRAY)	EA	\$3,000.000	2	\$6,000.00
	0450	6122030	IMPACT ATTENUATOR (RELOCATION)	EA	\$1,500.000	1	\$1,500.00
	0460	6122040	WORK ZONE CRASH CUSHION (NARROW)	EA	\$4,000.000	3	\$12,000.00
	0470	6122041	WORK ZONE CRASH CUSHION (NARROW) (RELOCATION)	EA	\$1,500.000	3	\$4,500.00
	0540	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	EA	\$600.000	23	\$13,800.00
	0580	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	LF	\$18.000	400	\$7,200.00

Revision 3/23/2023 Page 1 of 21

\$35,000.00



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 1, 2024

Progress Estimate Number	Contract ID	240517-B01	Pay Period Star	t September 16, 202	4 Original Contract Amount	\$15,426,147.61
7	Prime Contracto	r KCI Construction Company	Pay Period End	September 30, 202	4 Net Change Order Amount	\$0.00
,					Current Contract Amount	\$15,426,147.61

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J2P3043	0585	6173700B	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED	LF	\$31.000	875	\$27,125.00
	0600	6173706	TEMPORARY TRAFFIC BARRIER STIFFNESS TRANSITION SECTION, CONTRACTOR FURNISHED / RETAINED	LF	\$31.000	212.5	\$6,587.50
	0610	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	LF	\$9.000	175	\$1,575.00
	0620	6175011B	RELOCATING TEMPORARY TRAFFIC BARRIER ANCHORED	LF	\$25.000	600	\$15,000.00
	0860	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$100,000.000	0.1	\$10,000.00
	0870	7034041	CLASS B-1 CONCRETE (CULVERTS)	CUYD	\$895.000	110.5	\$98,897.50
	0880	7061030	REINFORCING STEEL (CULVERTS)	LB	\$0.010	12,225	\$122.25
	0890	7201000	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	SQFT	\$40.000	1,316	\$52,640.00
	0940	7261018	18 IN. PIPE GROUP A	LF	\$85.000	377	\$32,045.00
	1070	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	EA	\$2,600.000	1	\$2,600.00
	1150	8061016	SEDIMENT REMOVAL	CUYD	\$17.000	3	\$51.00
	1800	9029901	MISC.TEMPORARY SIGNALS AND LIGHTING - CHERRY STAGE 2A-B	LS	\$36,000.000	1	\$36,000.00
	1820	9029901	MISC.TEMPORARY SIGNALS AND LIGHTING - NB RAMP STAGE 2A-C	LS	\$36,000.000	1	\$36,000.00
	1850	9029901	MISC.TEMPORARY SIGNALS AND LIGHTING - OLD CAP	LS	\$30,000.000	1	\$30,000.00
	1860	9029901	MISC.TEMPORARY SIGNALS AND LIGHTING - SB RAMP STAGE 2A-B	LS	\$24,000.000	1	\$24,000.00
	2100	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	SQFT	\$300.000	8	\$2,400.00
	2110	2061000	CLASS 1 EXCAVATION	CUYD	\$160.000	92	\$14,720.00
	2120	2160500	REMOVAL OF BRIDGES	LS	\$250,000.000	0.33	\$82,500.00
roject J	2P3043 - T	otal					\$965,694.25
Overall -	Total						\$965,694,25

Contract Adjustments This Estimate

Contract Adjustment ID	Adj Type	Entered By	Comments	Time Units	Rate	Amount
5984	OTHRIncentive	bichsc1	According to paragraph 3.0 of JSP Q - Liquidated Damages/Liquidated Savings Specified - Bridge Demolition (2 Occurrences), the contractor is due an incentive of \$7,000 for completing the work up to 5 hours early. The contractor closed Highways 47 and 61 on September 27 at 10:00 PM and reopened the road on September 29 at 4:00 PM. That is six full hours ahead of the required completion of September 29 at 10:00 PM. This documents the payment for five units of time at a rate of \$7,000.			\$35,000.00
			This will result in total incentive payment of \$35,000 for JSP Q to be paid to the contractor on Estimate Number 0007.			

Overall - Total

These amounts are listed in the Incentive, Disincentive, Liquidated Damages or Other Contract Adjustments

Revision 3/23/2023 Page 2 of 21

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 1, 2024

Contract ID 240517-B01 Pay Period Start September 16, 2024 Original Contract Amount \$15,426,147.61 Prime Contractor KCI Construction Company Pay Period End September 30, 2024 Net Change Order Amount \$0.00 Current Contract Amount \$15,426,147.61 **Progress Estimate Number**

oject	Line	Item Description	Adjustment	Other Item	Comments	Adjustment	Line Item	Adjustment
nber	No.		Туре	Adjustment Type		Quantity	Adjustment Unit Price	amount
3043	0150	FURNISHING ROCK BASE MATERIAL	Other Item Adjustment	Material Discrepancy Payment Adjustment	NCR 001 has been settled			\$25,600.00
	0210	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	Material			-1,217.944	\$82.50	(\$100,480.38
	0210	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user bichsc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	1,217.944	\$82.50	\$100,480.38
	0310	CURB AND GUTTER TYPE B	Material			-2,920	\$28.00	(\$81,760.00
	0310	CURB AND GUTTER TYPE B	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user bichsc1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	2,920	\$28.00	\$81,760.00
	0330	FURNISHING TYPE 2 ROCK DITCH LINER	Material			-53.9	\$44.00	(\$2,371.60
	0330	FURNISHING TYPE 2 ROCK DITCH LINER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user bichsc1 overridding Payment Estimate Exception 9 on the current Payment Estimate.	53.9	\$44.00	\$2,371.60
	0390	ROCK LINING	Material			-2	\$102.00	(\$204.00
	0390	ROCK LINING	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user bichsc1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	2	\$102.00	\$204.00
	0540	TEMPORARY LONG-TERM RUMBLE STRIPS	Material			-23	\$600.00	(\$13,800.00
	0540	TEMPORARY LONG-TERM RUMBLE STRIPS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user bichsc1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	23	\$600.00	\$13,800.00
	0600	TEMPORARY TRAFFIC BARRIER STIFFNESS TRANSITION SECTION, CONTRACTOR FURNISHED / RETAINED	Material			-425	\$31.00	(\$13,175.00
	0600	TEMPORARY TRAFFIC BARRIER STIFFNESS TRANSITION SECTION, CONTRACTOR FURNISHED / RETAINED	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user bichsc1 overridding Payment Estimate Exception 12 on the current Payment Estimate.	425	\$31.00	\$13,175.00
	0870	CLASS B-1 CONCRETE (CULVERTS)	Material			-110.5	\$895.00	(\$98,897.50
	0870	CLASS B-1 CONCRETE (CULVERTS)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user bichsc1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	110.5	\$895.00	\$98,897.50
	0880	REINFORCING STEEL (CULVERTS)	Material			-12,225	\$0.01	(\$122.25
	0880	REINFORCING STEEL (CULVERTS)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item	12,225	\$0.01	\$122.25

Page 3 of 21 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 1, 2024

Progress Estimate Number
7
Contract ID 240517-B01 Pay Period Start September 16, 2024 Original Contract Amount \$15,426,147.61
Prime Contractor KCI Construction Company Pay Period End September 30, 2024 Net Change Order Amount \$0.00
Current Contract Amount \$15,426,147.61

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2P3043					Adjustment (0008) due to user bichsc1 overridding Payment Estimate Exception 16 on the current Payment Estimate.			
	0890	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	Material			-1,316	\$40.00	(\$52,640.00)
	1120	SEDIMENT TRAP ROCK	Material			-2	\$68.50	(\$137.00)
	1120	SEDIMENT TRAP ROCK	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user bichsc1 overridding Payment Estimate Exception 23 on the current Payment Estimate.	2	\$68.50	\$137.00
	1130	ROCK DITCH CHECK	Material			-16	\$20.00	(\$320.00)
	1130	ROCK DITCH CHECK	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user bichsc1 overridding Payment Estimate Exception 24 on the current Payment Estimate.	16	\$20.00	\$320.00
	1210	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	Material			-4,625.1	\$82.50	(\$381,570.75)
	1210	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user bichsc1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	4,625.1	\$82.50	\$381,570.75
	1800	MISC.	Material			-1	\$36,000.00	(\$36,000.00)
	1800	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0013) due to user bichsc1 overridding Payment Estimate Exception 25 on the current Payment Estimate.	1	\$36,000.00	\$36,000.00
	1820	MISC.	Material			-1	\$36,000.00	(\$36,000.00)
	1820	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user bichsc1 overridding Payment Estimate Exception 26 on the current Payment Estimate.	1	\$36,000.00	\$36,000.00
	1850	MISC.	Material			-1	\$30,000.00	(\$30,000.00)
	1850	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0015) due to user bichsc1 overridding Payment Estimate Exception 27 on the current Payment Estimate.	1	\$30,000.00	\$30,000.00
	1860	MISC.	Material			-1	\$24,000.00	(\$24,000.00)
	1860	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0016) due to user bichsc1 overridding Payment Estimate Exception 28 on the current Payment Estimate.	1	\$24,000.00	\$24,000.00
Total								(\$27,040.00)

Revision 3/23/2023 Page 4 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information		
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work	
J2P3043	47-1(83)	Bridge replacement, interchange and ADA improvements	47	LINCOLN	at Route 61 in Troy			
-	Job Numb	ers						_
J2P3043		ed Item Pay s Item Adjustme		Item Pay	This Estimate \$965,694.25 (\$27,040.00) \$938,654.25	Previous \$2,417,085.57 \$277,412.81 \$2,694,498.38	To Date \$3,382,779.82 \$250,372.81 \$3,633,152.63	
	Incer				\$35,000.00	\$0.00	\$35,000.00	
	Liqui	centive dated Damages r Contract Adjus			\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00	

Revision 3/23/2023 Page 5 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Epispellandin Epispellandin August (2014) (1994) (1	Exceptions (Discrepancies) This Estimate Period			
Number (2010) Material Sci 1200/1310(M. Sternis Sci 1200/1310(M. Sternis Materials Project (2010), Bernis (2013), Popied Item Live Reported Allow Control (1914) (1914) in a management of the control (1914) (1914) in a management of the control (1914) (1914) in a management of the control (1914) in	Exceptions / Discrepencies	Explanation		Status
Names 1900, Material Set 9031 1900 (10), Material Set 9031 1900 (10), In immiliated in configuration Annual Response (10) (10) (10) (10) (10) (10) (10) (10)	Number 0210, Material Set 502131096, Material 1005FACCNSCB - Natural Sand for Conc Class B,	No Remark was entered by Engineer	bichsc1	Overridden
Number 210, Material Set 50013109, Material 1005ACADE. An Natural Santa for Coner Clases A Acceptance Action Generic 1005PACADE. As in auditorial. Editinate Exception Type: Insufficiant Materials Project 2005AL Plant 6001052, Project then Line Cot 600A, Acceptance Action Generic 1005PACADEA. A set 1005PACADEA. A se	Number 1210, Material Set 502131096, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO,	No Remark was entered by Engineer	bichsc1	Overridden
Number 6013, Material Set 60105258, Material 60510CPACCOA - Converted Partment contractor risk or COCA Acceptance Action Genetic Out (CPACCOA) - Converted Partment Contractor risk or COCA Acceptance Action Genetic Out (CPACCOA) - Converted Partment Coca Coca Coca Coca Coca Coca Coca Coca	Number 1210, Material Set 502131096, Material 1005FACCNSCA - Natural Sand for Conc Class A,	No Remark was entered by Engineer	bichsc1	Overridden
Number 0310, Material Set 0001002369, Material 10550/MINLDST1D - Closer Perverenti-Bridge Designation Conference (10550/MINLDST1D - Insenditional Materials: Propose J292043, filter 1051052, Project Inten Line Materials of 0510526. Project Inten Line Materials (10510526. Project Inten Line Materials) (10510526. Project Inten Line Number 0313, Materials 5610050506. Material 1050640506. Project Inten Line Number 0313, Materials 5610050506. Material 1050640506. Project Inten Line Number 0313, Materials 5610050506. Materials (1050640506. As insufficient. Estimate Decoption Type: Insufficient Materials: Project 297903, filter 0501002, Project Inten Line Number 0313, Materials 5610050506. As insufficient. Estimate Decoption Type: Insufficient Materials: Project 297903, filter 0501002, Project Inten Line Number 0303, Materials 5610050606. As insufficient. Estimate Decoption Type: Insufficient Materials: Project 297903, filter 0501002, Project Inten Line Number 0303, Materials 5610050606. Project Inten Line Number 0304, Materials 561005060606. Project Inten Line Number 0304, Materials 561005060606. Project Inten Line Number 0304, Materials 561005060606. Project Inten Line Number 0304, Materials 5610050606060606060606060606060606060606	Number 0310, Material Set 609105296, Material 0501CCPAQCQA - Concrete, Payment contractor mix	No Remark was entered by Engineer	bichsc1	Overridden
Number 010, Material Set 08010520B, Material 05010520B, International Control Case & Walter, Acceptance Action Genetic 05010CA. As is studiotical As is studiotical and action of the Control Case & Cont	Number 0310, Material Set 609105296, Material 1055CMMLDST1D - Clear Pavement-Bridge	No Remark was entered by Engineer	bichsc1	Overridden
Number 0310, Material Set 600105280, Material 1050510.CPCMID - PCCP or Massinity 1 Time Lise No. Acceptance Action Generic 100510.CPCMID is insufficient. Estimate Exception Type: Insufficient Materials: Polycet J2P3043, Item 0001002, Project Item Line Number 0310, Material Set 600105260, Adaretal 300576CNS. CA: Natural Set 600105260, Material 200576CNS. CA: Natural Set 600105260, Insufficient Section 1	Number 0310, Material Set 609105296, Material 0501CCB. A - Concrete, Class B w/Air, Acceptance	No Remark was entered by Engineer	bichsc1	Overridden
Number 0310, Material Set 809/03268, Material 1005FACCNS. CA Natural Sand for Cono Class A. Acceptance Action Generic 1005FACCNS. CA is insufficient. Estimate Exception Type: Insufficient Materials: Project J269304, Item 6099000, Project Item Line Number 0330, Material 6009F000, Material 6009F000, Project Item Line Number 0330, Material Set 80090000, Material 6009F000, Project Item Line Number 0330, Material Set 80090000, Material 6009F000, Project Item Line Number 0390, Material Set 80090000, Material 6009F000, Project Item Line Number 0390, Material Set 800970000, Material 601F0FM: Embandment Protection Material. Estimate Exception Type: Insufficient Materials: Project J279043, Item 6097000, Project Item Line Number 0390, Material Set 800970000, Material 601F0FM Care Intervention of Project J27904, Item 6182002, Project Item Line Number 0390, Material 601F0FM Care Intervention Materials: Project J27904, Item 6182002, Project Item Line Number 0390, Material 601F0FM Care Intervention Materials: Project J27904, Item 6173700, Project Item Line Number 0390, Material Set 6107700, Material 601F0FM Care Intervention Materials: Project J27904, Item 6173700, Project Item Line Number 0390, Material Set 6107700, Material 601F0FM Care Intervention Materials: Project J279043, Item 6173040, Project Item Line Number 0370, Material Set 6107700, Material 601F0FM Care Intervention Materials Set 6107700, Material 601F0FM Care Intervention Materials: Project J279043, Item 7034041, Project Item Line Number 0370, Material 501F0FM Materials Set 70730416, Material 601F0FM Care Materials Set 70730416, Material 601F0FM Care Materials Set 70730416, Materials	Number 0310, Material Set 609105296, Material 100510. CPCMLD - PCCP or Masonry 1" Max LS/DO,	No Remark was entered by Engineer	bichsc1	Overridden
Number (1930). Material Set (1996)0902999. Material (1906)090201. I sinsufficient. Acceptance Action Generic (1906)090201. I sinsufficient. Materials: Project JZP3043, Item (1907)000, Project Item Line Number (1930). Material Set (1907)00006, Material (1916)1904. Embarkment Protection Materials. Acceptance Action Generic (1916) Half-Missinsufficient. Estimate Exception Type. Insufficient Materials: Project JZP3043, Item (1900)000. Project Item Line Number (1940). Material Set (1907)000. Material (1916) Half-Missinsufficient. Estimate Exception Type. Insufficient Materials: Project JZP3043, Item (1930)000. Project Item Line Number (1940). Material (1940)000. Material (1940)000. Project Item Line Number (1940). Material (1940)000. Material (1940)000. Project Item Line Number (1940). Material (1940)0000. Project Item Line Number (1940). Material (1940)000. Research (1940)000. Acceptance Action Generic (1951)000. Project Item Line Number (1940). Material (1940)000. Research (1940)0000. Research (1940)0000. Research (1940)0000	Number 0310, Material Set 609105296, Material 1005FACCNSCA - Natural Sand for Conc Class A,	No Remark was entered by Engineer	bichsc1	Overridden
Number 0390, Material Set 609700096, Material 0611EPM - Embankment Protection Material, Acceptance Action Generic 0611EPM is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 6162002, Project Item Line Number 0360, Material 5616100006, Material 05161TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 06161TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 8162002, Project Item Line Number 0800, Material 56161TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7034041, Project Item Line Number 0870, Material 56161TMC is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7034041, Project Item Line Number 0870, Material 5617040156, Material 5010CD81 is Insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7034041, Project Item Line Number 0870, Material 5617040156, Material 100574CD8. CPCMILD - PCDP or Masonry 11 Max LSIDO. Coopatinos Action Generic 105610. CPCMILD - PCDP or Masonry 11 Max LSIDO. Coopatinos Action Generic 105674CD8. CA insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7034041, Project Item Line Number 0870, Material 5617040156, Material 100574CD8. CA insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7034041, Project Item Line Number 0870, Material 5617040156, Material 100574CD8. CA insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0880, Material 5617061006, Material 105678CD94. Acceptance Action Generic Nethology and Materials Set 70610306, Material 105678CD94, Reproducing Steel No. 104322 Gr 600M202, Acceptance Action Generic Residellars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0880, Material 56170610306, Material 105678CD94056, Material 105678CD94056, Material 105678CD94056,	Number 0330, Material Set 609602096, Material 0609PDDL - Paved Drainage Material for Ditch Liner,	No Remark was entered by Engineer	bichsc1	Overridden
Number 0540, Material Set 618200296, Material 0516TMTC - Temporary Traffic Confrod Devices, Acceptance Action Generic 0516TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P9043, Item 7034041, Project Item Line Number 0600, Material 0516TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P9043, Item 7034041, Project Item Line Number 06070, Material 0516TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P9043, Item 7034041, Project Item Line Number 0670, Material 05170304196, Material 10510. CPCMLD is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P9043, Item 7034041, Project Item Line Number 0670, Material 05170304196, Material 10510. CPCMLD is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P9043, Item 7034041, Project Item Line Number 0670, Material 05170304196, Material 10510. CPCMLD is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P9043, Item 7034041, Project Item Line Number 0670, Material 05170304196, Material 10510. CPCMLD is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P9043, Item 7081030, Project Item Line Number 0870, Material 05170574005, Acceptance Action Generic Restellations is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P9043, Item 7081030, Project Item Line Number 0880, Material 05170574005, Material 05180574005, Material 05180574005, Material 05180574005, Material 05180574005, Material 05180574005, Material 05180574005, Material 0518057405, Project Item Line Number 0880, Material 051703066, Material 0518057405, Project Item Line Number 0880, Material 051703066, Material 050805744, Item 7081030, Project Item Line Number 0880, Material 051703066, Material 050805744, Item 7081030, Project Item Line Number 0880, Material 051703066, Material 050805744, Item 7081030, Project Item Line Number 0880, Material 051703066, Material 050805744, Item 7081000, Project Item Line Num	Number 0390, Material Set 609700096, Material 0611EPM - Embankment Protection Material,	No Remark was entered by Engineer	bichsc1	Overridden
Number 0600, Material Set 6173706, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7034041, Project Item Line Number 0870, Material Set 703404196, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7034041, Project Item Line Number 0870, Material Set 703404196, Material 100510.CPCMLD - PCCP or Masonry 1* Max LS/DO, Acceptance Action Generic 100510.CPCMLD is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7034041, Project Item Line Number 0870, Material Set 703404196, Material 100510.CPCMLD - PCCP or Masonry 1* Max LS/DO, Acceptance Action Generic 100510.CPCMLD is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 708100, Project Item Line Number 0870, Material Set 703404196, Material 1005140.CPCMLD - Review J2P3043, Item 708100, Project Item Line Number 0880, Material Set 703404196, Material 1005140.CPCMLD - Review J2P3043, Item 708100, Project Item Line Number 0880, Material Set 705103096, Material 1036RSDFP142M32 - Reinforcing Steel No. 9/M29 Gr 60/M420 Gr Acceptance Action Generic ResidelBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0880, Material Set 706103096, Material 1036RSDFP142M32 - Reinforcing Steel No. 10/M32 Gr 60/M420 Gr Acceptance Action Generic ResidelBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0880, Material Set 706103096, Material 1036RSDFP142M33 - Reinforcing Steel No. 11/M36 Gr 60/M420 Gr Acceptance Action Generic ResidelBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 0800, Material Set 706100096, Material 050100614, Item 1061006	Number 0540, Material Set 616200296, Material 0616TMTC - Temporary Traffic Control Devices,	Awaiting certifications	bichsc1	Overridden
Number 0970, Material Set 703404196, Material St0702043, Item 7034041, Project Item Line Number 0970, Material Set 703404186, Material St070340186, Material St0957A0CNS. CA is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7081030, Project Item Line Number 0800, Material Set 708103096, Material St0703096, Mate	Number 0600, Material Set 6173706, Material 0616TMTC - Temporary Traffic Control Devices,	No Remark was entered by Engineer	bichsc1	Overridden
Number 0870, Material 581 703404196, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO. Acceptance Action Generic 100510CPCMLD is insufficient. Acknowledged Number 0870, Material 581 70340419, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient. Stimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0880, Material 581 706103096, Material 1036RSDFPL42M29 - Reinforcing Steel No. 9/M22 Gr. Acceptance Action Generic RoseledBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0880, Material 581 706103096, Material 1036RSDFPL42M29 - Reinforcing Steel No. 9/M22 Gr. Acceptance Action Generic RoseledBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0880, Material 581 706103096, Material 1036RSDFP142M39 - Reinforcing Steel No. 10/M32 Gr. 60/M420@, Acceptance Action Generic RoseledBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0880, Material 581 706103096, Material 1036RSDFP142M36 - Reinforcing Steel No. 11/M36 Gr. 60/M420@, Acceptance Action Generic RoseledBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 0880, Material 581 70010096, Material 50010CB1A - Concrete, Class B-1 w/Air, Acceptance Action Generic 07010CB1A is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 0890, Material 581 720100096, Material 591 70200056, Material 7010056, Material 7	Number 0870, Material Set 703404196, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance	No Remark was entered by Engineer	bichsc1	Overridden
Number 0870, Material Set 703404196, Material 1005FACCNS, CA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNS, CA is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0880, Material Set 706103096, Material 1036RSDFPL42M29 - Reinforcing Steel No. 9/M29 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0880, Material Set 706103096, Material 1036RSDFPL42M32 - Reinforcing Steel No. 10/M32 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0880, Material Set 706103096, Material 1036RSDFPL42M32 - Reinforcing Steel No. 10/M32 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0890, Material Set 720100096, Material Set 72010	Number 0870, Material Set 703404196, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO,	No Remark was entered by Engineer	bichsc1	Overridden
Number 0880, Material Set 706103096, Material 1036RSDFPL42M29 - Reinforcing Šteel No. 9/M29 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0880, Material Set 706103096, Material 1036RSDFPL42M32 - Reinforcing Steel No. 10/M32 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0880, Material Set 706103096, Material 1036RSDFPL42M32 - Reinforcing Steel No. 11/M36 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7061030, Project Item Line Number 0890, Material Set 720100096, Mater	Number 0870, Material Set 703404196, Material 1005FACCNSCA - Natural Sand for Conc Class A,	No Remark was entered by Engineer	bichsc1	Overridden
Number 0880, Material Set 706103096, Material 1036RSDFPL42M32 - Reinforcing Šteel No. 10/M32 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient. No Remark was entered by Engineer	Number 0880, Material Set 706103096, Material 1036RSDFPL42M29 - Reinforcing Steel No. 9/M29 Gr	No Remark was entered by Engineer	bichsc1	Overridden
Number 0880, Material Set 706103096, Material 1036RSDFPL42M36 - Reinforcing Steel No. 11/M36 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 0890, Material Set 720100096, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 0890, Material Set 720100096, Material 0720MSEW - MSE Wall System -Bridge Approved Design, Acceptance Action Generic 0720MSEW is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 0890, Material Set 720100096, Material 1011GXT4 - Geotextile Fabric for Separation (T4), Acceptance Action Generic 1011GXT4 is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 0890, Material Set 720100096, Material 1010SGBF - Select Gran Backfill for Structural Sys, Acceptance Action Generic 1010SGBF is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 8061004, Project Item Line Number 0890, Material Set 806100496, Material Set 720100096, Material Set 72010009	Number 0880, Material Set 706103096, Material 1036RSDFPL42M32 - Reinforcing Steel No. 10/M32 Gr	No Remark was entered by Engineer	bichsc1	Overridden
Number 0890, Material Set 720100096, Material 0501CCB1.A is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 0890, Material Set 720100096, Material 0720MSEW - MSE Wall System -Bridge Approved Design, Acceptance Action Generic 0720MSEW is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 0890, Material Set 720100096, Material 1011GXT4 - Geotextile Fabric for Separation (T4), Acceptance Action Generic 1011GXT4 is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 0890, Material Set 720100096, Material 1010SGBF - Select Gran Backfill for Structural Sys, Acceptance Action Generic 1010SGBF is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 1010SGBF is insufficient. No Remark was entered by Engineer No Remark was entered by Engineer Dichsc1 Overridden No Remark was entered by Engineer Dichsc1 Overridden	Number 0880, Material Set 706103096, Material 1036RSDFPL42M36 - Reinforcing Steel No. 11/M36 Gr	No Remark was entered by Engineer	bichsc1	Overridden
Number 0890, Material Set 720100096, Material 0720MSEW - MSE Wall System - Bridge Approved Design, Acceptance Action Generic 0720MSEW is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 0890, Material Set 720100096, Material 1011GXT4 - Geotextile Fabric for Separation (T4), Acceptance Action Generic 1011GXT4 is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 0890, Material Set 720100096, Material 1010SGBF - Select Gran Backfill for Structural Sys, Acceptance Action Generic 1010SGBF is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 8061004, Project Item Line Number 1120, Material Set 806100496, Material 0806TEC - Temporary Erosion Control, Acceptance Action Generic 0806TEC is insufficient. No Remark was entered by Engineer No Remark was entered by Engineer Dichsc1 Overridden No Remark was entered by Engineer Dichsc1 Overridden	Number 0890, Material Set 720100096, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance	No cre20 report is assigned to this item	bichsc1	Acknowledged
Number 0890, Material Set 720100096, Material 1011GXT4 - Geotextile Fabric for Separation (T4), Acceptance Action Generic 1011GXT4 is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 7201000, Project Item Line Number 0890, Material Set 720100096, Material 1010SGBF - Select Gran Backfill for Structural Sys, Acceptance Action Generic 1010SGBF is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 8061004, Project Item Line Number 1120, Material Set 806100496, Material 0806TEC - Temporary Erosion Control, Acceptance Action Generic 0806TEC is insufficient. No Remark was entered by Engineer No Remark was entered by Engineer bichsc1 Overridden No Remark was entered by Engineer	Number 0890, Material Set 720100096, Material 0720MSEW - MSE Wall System -Bridge Approved	Awaiting approval of unit fill from engineer of record	bichsc1	Acknowledged
Number 0890, Material Set 720100096, Material 1010SGBF - Select Gran Backfill for Structural Sys, Acceptance Action Generic 1010SGBF is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 8061004, Project Item Line Number 1120, Material Set 806100496, Material 0806TEC - Temporary Erosion Control, Acceptance Action Generic 0806TEC is insufficient. No Remark was entered by Engineer bichsc1 Overridden No Remark was entered by Engineer bichsc1 Overridden	Number 0890, Material Set 720100096, Material 1011GXT4 - Geotextile Fabric for Separation (T4),	Awaiting certification to be uploaded to eprojects	bichsc1	Acknowledged
Number 1120, Material Set 806100496, Material 0806TEC - Temporary Erosion Control, Acceptance Action Generic 0806TEC is insufficient. Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 8061005, Project Item Line No Remark was entered by Engineer bichsc1 Overridden	Number 0890, Material Set 720100096, Material 1010SGBF - Select Gran Backfill for Structural Sys,	Awaiting certification to be uploaded to eprojects	bichsc1	Acknowledged
	Number 1120, Material Set 806100496, Material 0806TEC - Temporary Erosion Control, Acceptance	No Remark was entered by Engineer	bichsc1	Overridden
		No Remark was entered by Engineer	bichsc1	Overridden

Revision 3/23/2023 Page 6 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Action Generic 0806TEC is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 9029901, Project Item Line Number 1800, Material Set 9029901, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	One time override	bichsc1	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 9029901, Project Item Line Number 1820, Material Set 9029901, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	One time override	bichsc1	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 9029901, Project Item Line Number 1850, Material Set 9029901, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	One time override	bichsc1	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3043, Item 9029901, Project Item Line Number 1860, Material Set 9029901, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	One time override	bichsc1	Overridden
Estimate Exception Type: Item Overrun: Contract 240517-B01, Contract Project J2P3043, Project Item Line Number 0430, Contract Line Item Number 0430, Item 6122014, Minor Item.	Change order in process, estimated completion and payment by next estimate	bichsc1	Acknowledged
Estimate Exception Type: Pending Or Draft Daily Work Request: Contract 240517-B01, Inspector foxd, DWR Date 9/7/2024, DWR Status Draft.	No Remark was entered by Engineer	bichsc1	Acknowledged
Estimate Exception Type: Pending Or Draft Daily Work Request: Contract 240517-B01, Inspector foxd, DWR Date 8/21/2024, DWR Status Draft.	No Remark was entered by Engineer	bichsc1	Acknowledged

Revision 3/23/2023 Page 7 of 21



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
0517-B01	J2P3043	0001	0010	2010000	MOWING	9.80	0.00	9.80	ACRE	0.00	\$350.00	\$0.00
		0001	0020	2013000	CLEARING AND GRUBBING	5.00	0.00	5.00	ACRE	2.20	\$16,000.00	\$35,200.00
		0001	0030	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.40	\$300,000.00	\$120,000.00
		0001	0040	2031000	CLASS A EXCAVATION	21,111.00	0.00	21,111.00	CUYD	9,299.40	\$9.90	\$92,064.06
		0001	0050	2035000	UNCLASSIFIED EXCAVATION	14,322.00	0.00	14,322.00	CUYD	0.00	\$10.00	\$0.00
		0001	0060	2035500	EMBANKMENT IN PLACE	35,554.00	0.00	35,554.00	CUYD	15,176.00	\$24.00	\$364,224.0
		0001	0070	2036000	COMPACTING EMBANKMENT	30,118.00	0.00	30,118.00	CUYD	8,726.00	\$5.00	\$43,630.00
		0001	0800	2063000	CLASS 3 EXCAVATION	1,898.00	0.00	1,898.00	CUYD	982.50	\$4.00	\$3,930.00
		0001	0090	2063300	CLASS 4 EXCAVATION	145.00	0.00	145.00	CUYD	119.00	\$225.00	\$26,775.00
		0001	0100	2065500	TEMPORARY SHORING	1.00	0.00	1.00	LS	1.00	\$45,000.00	\$45,000.00
		0001	0110	2071000	LINEAR GRADING CLASS 1	14.30	0.00	14.30	STA	0.00	\$400.00	\$0.00
		0001	0120	2142000	FURNISHING ROCK FILL	4,454.00	0.00	4,454.00	CUYD	0.00	\$29.00	\$0.00
		0001	0130	2143000	PLACING ROCK FILL	4,454.00	0.00	4,454.00	CUYD	0.00	\$9.00	\$0.00
		0001	0140	2163500	PARTIAL REMOVAL OF CULVERT CONCRETE	1.00	0.00	1.00	LS	0.50	\$55,000.00	\$27,500.00
		0001	0150	3030600	FURNISHING ROCK BASE MATERIAL	33,552.00	0.00	33,552.00	SQYD	14,610.00	\$16.00	\$233,760.0
		0001	0160	3030610A	PLACING ROCK BASE	33,552.00	0.00	33,552.00	SQYD	14,610.00	\$6.50	\$94,965.00
		0001	0170	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	9,930.00	0.00	9,930.00	SQYD	0.00	\$5.25	\$0.0
		0001	0180	4019905	MISC.TEMPORARY ASPHALT SURFACE MODIFICATION	1,110.00	0.00	1,110.00	SQYD	0.00	\$46.25	\$0.00
		0001	0190	4019905	MISC.TEMPORARY OPTIONAL PAVEMENT AND BASE	4,636.00	0.00	4,636.00	SQYD	2,075.80	\$60.00	\$124,548.0
		0001	0200	4030116	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125B MIX)	2,092.70	0.00	2,092.70	TONS	0.00	\$120.50	\$0.0
		0001	0210	5021310	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	15,718.50	0.00	15,718.50	SQYD	3,017.80	\$82.50	\$248,968.5
		0001	0220	5021340	TYPE A2 SHOULDER	422.30	0.00	422.30	SQYD	284.50	\$62.50	\$17,781.2
		0001	0230	5041000	CONCRETE APPROACH PAVEMENT	466.50	0.00	466.50	SQYD	0.00	\$155.00	\$0.0
		0001	0240	6044011	PIPE COLLAR, TYPE A	4.00	0.00	4.00	EA	0.00	\$2,800.00	\$0.0
		0001	0250	6071012A	CHAIN-LINK FENCE (60 IN.)	505.00	0.00	505.00	LF	0.00	\$32.00	\$0.0
		0001	0260	6081010	CONCRETE CURB RAMP	188.80	0.00	188.80	SQYD	0.00	\$230.00	\$0.0
		0001	0270	6081012	TRUNCATED DOMES	483.00	0.00	483.00	SQFT	0.00	\$18.00	\$0.00
		0001	0280	6083008	8 IN. CONCRETE MEDIAN STRIP	2,220.20	0.00	2,220.20	SQYD	0.00	\$82.00	\$0.00
		0001	0290	6085008	PAVED APPROACH, 8 IN.	661.70	0.00	661.70	SQYD	0.00	\$92.00	\$0.00
		0001	0300	6086004	CONCRETE SIDEWALK, 4 IN.	3,140.70	0.00	3,140.70	SQYD	0.00	\$59.00	\$0.00
		0001	0310	6091052	CURB AND GUTTER TYPE B	8,009.00	0.00	8,009.00	LF	2,920.00	\$28.00	\$81,760.0
		0001	0320	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	194.00	0.00	194.00	CUYD	0.00	\$41.00	\$0.0
		0001	0330	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	168.00	0.00	168.00	CUYD	53.90	\$44.00	\$2,371.6
		0001	0340	6096030A	FURNISHING TYPE 3 ROCK DITCH LINER	22.00	0.00	22.00	CUYD	0.00	\$58.00	\$0.0
		0001	0350	6096041	PLACING TYPE 1 ROCK DITCH LINER	194.00	0.00	194.00	CUYD	0.00	\$25.00	\$0.0
		0001	0360	6096042	PLACING TYPE 2 ROCK DITCH LINER	168.00	0.00	168.00	CUYD	53.90	\$28.50	\$1,536.1
		0001	0370	6096043	PLACING TYPE 3 ROCK DITCH LINER	22.00	0.00	22.00	CUYD	0.00	\$36.25	\$0.0
		0001	0380	6096050	BEDDING MATERIAL FOR ROCK DITCH LINER	8.00	0.00	8.00	CUYD	0.00	\$73.00	\$0.0
		0001	0390	6097000	ROCK LINING	341.00	0.00	341.00	CUYD	2.00	\$102.00	\$204.0
		0001	0400	6113020	FURNISHING TYPE 2 ROCK BLANKET	2,941.00	0.00	2,941.00	CUYD	0.00	\$55.25	\$0.0
		0001	0410	6113040	PLACING TYPE 2 ROCK BLANKET	2,941.00	0.00	2,941.00	CUYD	0.00	\$25.50	\$0.0
		0001	0420	6122009	IMPACT ATTENUATOR 45 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000.0
		0001	0430	6122014	IMPACT ATTENUATOR 60 MPH (SAND BARREL ARRAY)	4.00	0.00	4.00	EA	6.00	\$4,000.00	\$24,000.0
		0001	0440	6122020	REPLACEMENT SAND BARREL	16.00	0.00	16.00	EA	0.00	\$100.00	\$0.00
		0001	0450	6122030	IMPACT ATTENUATOR (RELOCATION)	10.00	0.00	10.00	EA	1.00	\$1,500.00	\$1,500.00
		0001										

Revision 3/23/2023 Page 8 of 21



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

vote: Posted Q	danidics	anu vaiu	es ale L	aseu on it	eport Generated date and can differ from the posted amo	Junit at the	unic unc	Louinate wa	s Gener	aicu.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240517-B01	J2P3043	0001	0470	6122041	WORK ZONE CRASH CUSHION (NARROW) (RELOCATION)	24.00	0.00	24.00	EA	3.00	\$1,500.00	\$4,500.00
		0001	0480	6123001	TRUCK MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	LS	0.00	\$20,000.00	\$0.00
		0001	0490	6141023	GRATE AND BEARING PLATE (5 FT. X 2 FT. OR 1524 MM X 610 MM)	2.00	0.00	2.00	EA	0.00	\$1,530.00	\$0.00
		0001	0500	6143011	MANHOLE FRAME AND COVER, TYPE 1-B	2.00	0.00	2.00	EA	1.00	\$665.00	\$665.00
		0001	0510	6143012	MANHOLE FRAME AND COVER, TYPE 2	7.00	0.00	7.00	EA	2.00	\$512.00	\$1,024.00
		0001	0520	6143013	MANHOLE FRAME AND COVER, TYPE 3	35.00	0.00	35.00	EA	14.00	\$295.00	\$4,130.00
		0001	0530	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	6.00	0.00	6.00	EA	6.00	\$4,000.00	\$24,000.00
		0001	0540	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	38.00	0.00	38.00	EA	23.00	\$600.00	\$13,800.00
		0001	0550	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.50	\$112,350.00	\$56,175.00
		0001	0560	6169902	MISC.ADA COMPLIANT BARRICADE	12.00	0.00	12.00	EA	0.00	\$150.00	\$0.00
		0001	0570	6173100	CONCRETE TRAFFIC BARRIER, TYPE D	896.00	0.00	896.00	LF	0.00	\$175.00	\$0.00
		0001	0580	6173600D	TEMPORARY TRAFFIC BARRIER, CONTRACTOR FURNISHED / RETAINED	4,475.00	0.00	4,475.00	LF	2,412.50	\$18.00	\$43,425.00
		0001	0585	6173700B	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED	4,788.00	0.00	4,788.00	LF	3,350.00	\$31.00	\$103,850.00
		0001	0600	6173706	TEMPORARY TRAFFIC BARRIER STIFFNESS TRANSITION SECTION, CONTRACTOR FURNISHED / RETAINED	850.00	0.00	850.00	LF	425.00	\$31.00	\$13,175.00
		0001	0610	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	950.00	0.00	950.00	LF	175.00	\$9.00	\$1,575.00
		0001	0620	6175011B	RELOCATING TEMPORARY TRAFFIC BARRIER ANCHORED	1,175.00	0.00	1,175.00	LF	600.00	\$25.00	\$15,000.00
		0001	0630	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$820,287.58	\$410,143.79
		0001	0640	6191000	PAVEMENT EDGE TREATMENT	11,842.00	0.00	11,842.00	LF	0.00	\$0.01	\$0.00
		0001	0650	6200012	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE	873.00	0.00	873.00	LF	0.00	\$12.00	\$0.00
		0001	0660	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	446.00	0.00	446.00	LF	0.00	\$25.00	\$0.00
		0001	0670	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	161.00	0.00	161.00	LF	0.00	\$25.00	\$0.00
		0001	0680	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	36.00	0.00	36.00	EA	0.00	\$225.00	\$0.00
		0001	0690	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	27.00	0.00	27.00	EA	0.00	\$175.00	\$0.00
		0001	0700	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	4.00	0.00	4.00	EA	0.00	\$300.00	\$0.00
		0001	0710	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	94.00	0.00	94.00	EA	0.00	\$15.00	\$0.00
		0001	0720	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	14,288.00	0.00	14,288.00	LF	0.00	\$0.24	\$0.00
		0001	0730	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	21,554.00	0.00	21,554.00	LF	0.00	\$0.39	\$0.00
		0001	0740	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	4,906.00	0.00	4,906.00	LF	0.00	\$0.39	\$0.00
		0001	0750	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	758.00	0.00	758.00	LF	0.00	\$0.24	\$0.00
		0001	0760	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	7,336.00	0.00	7,336.00	LF	0.00	\$0.24	\$0.00
		0001	0770	6207001	PAVEMENT MARKING REMOVAL	133,681.00	0.00	133,681.00	LF	5,906.00	\$0.49	\$2,893.94
		0001	0780	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	54.00	0.00	54.00	EA	2.00	\$75.00	\$150.00
		0001	0790	6208063	TEMPORARY PAVEMENT MARKING	54.00	0.00	54.00	EA	0.00	\$25.00	\$0.00
		0001	0800	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	124,994.00	0.00	124,994.00	LF	11,658.00	\$0.19	\$2,215.02
		0001	0810	6209902	MISC.PREFORMED THERMOPLASTIC PAVEMENT MARKING, LANE REDUCTION ARROW	2.00	0.00	2.00	EA	0.00	\$1,000.00	\$0.00
		0001	0820	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	10,224.00	0.00	10,224.00	SQYD	0.00	\$4.00	\$0.00
		0001	0830	6240101A	SUBSURFACE DRAINAGE GEOTEXTILE	1,739.00	0.00	1,739.00	SQYD	0.00	\$1.10	\$0.00
		0001	0840	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	4,412.00	0.00	4,412.00	SQYD	0.00	\$1.10	\$0.00
		0001	0850	6240104A	SEPARATION GEOTEXTILE	7,718.00	0.00	7,718.00	SQYD	0.00	\$1.10	\$0.00
		0001	0860	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.40	\$100,000.00	\$40,000.00
		0001	0870	7034041	CLASS B-1 CONCRETE (CULVERTS)	274.40	0.00	274.40	CUYD	110.50	\$895.00	\$98,897.50
		0001	0880	7061030	REINFORCING STEEL (CULVERTS)	34,170.00	0.00	34,170.00	LB	12,225.00	\$0.01	\$122.25

Page 9 of 21 Revision 3/23/2023



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

vote: Posted Q	uanililes	and valu	es are c	ased on R	eport Generated date and can differ from the posted amo	ount at the	ime ine	Estimate wa	s Gene	rated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240517-B01	J2P3043	0001	0890	7201000	MECHANICALLY STABILIZED EARTH WALL SYSTEMS	1,316.00	0.00	1,316.00	SQFT	1,316.00	\$40.00	\$52,640.00
		0001	0900	7250312A	12 IN. PIPE GROUP B	351.00	0.00	351.00	LF	289.00	\$68.00	\$19,652.00
		0001	0910	7250318A	18 IN. PIPE GROUP B	411.00	0.00	411.00	LF	266.00	\$85.00	\$22,610.00
		0001	0920	7250324A	24 IN. PIPE GROUP B	106.00	0.00	106.00	LF	0.00	\$110.00	\$0.00
		0001	0930	7261012	12 IN. PIPE GROUP A	633.00	0.00	633.00	LF	106.00	\$80.00	\$8,480.00
		0001	0940	7261018	18 IN. PIPE GROUP A	2,358.00	0.00	2,358.00	LF	1,421.00	\$85.00	\$120,785.00
		0001	0950	7261030	30 IN. PIPE GROUP A	22.00	0.00	22.00	LF	15.00	\$215.00	\$3,225.00
		0001	0960	7261048	48 IN. PIPE GROUP A	71.00	0.00	71.00	LF	0.00	\$280.00	\$0.00
		0001	0970	7310048	PRECAST CONCRETE MANHOLE - 48 IN.	67.00	0.00	67.00	FT	0.00	\$380.00	\$0.00
		0001	0980	7310060	PRECAST CONCRETE MANHOLE - 60 IN.	18.00	0.00	18.00	FT	11.00	\$630.00	\$6,930.00
		0001	0990	7311030	PRECAST CONCRETE DROP INLET 3 FT X 2 FT-6 IN.	35.00	0.00	35.00	FT	31.00	\$760.00	\$23,560.00
		0001	1000	7311033	PRECAST CONCRETE DROP INLET 3 FT X 3 FT	4.00	0.00	4.00	FT	4.00	\$860.00	\$3,440.00
		0001	1010	7311052	PRECAST CONCRETE DROP INLET 5 FT X 2 FT	11.00	0.00	11.00	FT	0.00	\$780.00	\$0.00
		0001	1020	7311053	PRECAST CONCRETE DROP INLET 5 FT X 3 FT	173.00	0.00	173.00	FT	50.00	\$750.00	\$37,500.00
		0001	1030	7320012A	12 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$2,200.00	\$0.00
		0001	1040	7320018A	18 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$2,600.00	\$0.00
		0001	1050	7320024A	24 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	2.00	0.00	2.00	EA	0.00	\$3,100.00	\$0.00
		0001	1060	7320612A	12 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	10.00	0.00	10.00	EA	2.00	\$2,200.00	\$4,400.00
		0001	1070	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	3.00	0.00	3.00	EA	2.00	\$2,600.00	\$5,200.00
		0001	1080	7320630A	30 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	0.00	2.00	EA	1.00	\$5,300.00	\$5,300.00
		0001	1090	7320648A	48 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	0.00	2.00	EA	0.00	\$6,200.00	\$0.00
		0001	1100	8025006	MULCHING	15.60	0.00	15.60	ACRE	0.00	\$1,750.00	\$0.00
		0001	1110	8051000A	SEEDING - COOL SEASON GRASSES	9.80	0.00	9.80	ACRE	0.00	\$2,150.00	\$0.00
		0001	1120	8061004	SEDIMENT TRAP ROCK	17.00	0.00	17.00	CUYD	2.00	\$68.50	\$137.00
		0001	1130	8061005	ROCK DITCH CHECK	192.00	0.00	192.00	LF	16.00	\$20.00	\$320.00
		0001	1140	8061007A	CURB INLET CHECK	33.00	0.00	33.00	EA	0.00	\$95.00	\$0.00
		0001	1150	8061016	SEDIMENT REMOVAL	113.00	0.00	113.00	CUYD	3.00	\$17.00	\$51.00
		0001	1160	8061017	TEMPORARY SEEDING	9.80	0.00	9.80	ACRE	0.00	\$900.00	\$0.00
		0001	1170	8061019	SILT FENCE	9,617.00	0.00	9,617.00	LF	2,360.00	\$2.50	\$5,900.00
		0001	1180	8061020	TEMPORARY PIPE	110.00	0.00	110.00	LF	0.00	\$60.00	\$0.00
		0001	1190	8064137	TYPE 2C EROSION CONTROL BLANKET	19,219.00	0.00	19,219.00	SQYD	0.00	\$2.30	\$0.00
		0003	1210	5021310	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	14,366.50	0.00	14,366.50	SQYD	4,625.10	\$82.50	\$381,570.75
		0005	1230	5021308	CONCRETE PAVEMENT (8 IN. NON-REINFORCED, 15 FT. JOINTS)	7,273.10	0.00	7,273.10	SQYD	0.00	\$59.00	\$0.00
		0007	1250	5021340	TYPE A2 SHOULDER	2,250.00	0.00	2,250.00	SQYD	0.00	\$46.50	\$0.00
		0010	1260	6061040	GUARDRAIL TYPE D	125.00	0.00	125.00	LF	0.00	\$30.00	\$0.00
		0010	1270	6061060	MGS GUARDRAIL	1,638.00	0.00	1,638.00	LF	0.00	\$28.00	\$0.00
		0010	1280	6061067	MGS DOUBLE FACED GUARDRAIL	50.00	0.00	50.00	LF	0.00	\$42.00	\$0.00
		0010	1290	6061070	MGS VERTICAL CONCRETE BARRIER TRANSITION	4.00	0.00	4.00	EA	0.00	\$3,900.00	\$0.00
		0010	1300	6061080	MGS END ANCHOR	8.00	0.00	8.00	EA	0.00	\$1,400.00	\$0.00
		0010	1310	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	8.00	0.00	8.00	EA	0.00	\$3,200.00	\$0.00
		0010	1320	6063016	TYPE B CRASHWORTHY END TERMINAL	2.00	0.00	2.00	EA	0.00	\$12,500.00	\$0.00
		0020	1330	9014003	CONDUIT, 3 IN. RIGID, PUSHED	500.00	0.00	500.00	LF	0.00	\$20.00	\$0.00
		0020	1350	9015020	TRENCHING TYPE II	3,130.00	0.00	3,130.00	LF	0.00	\$7.00	\$0.00
		0020	1360	9016110	PULL BOX, PREFORMED CLASS 1	14.00	0.00	14.00	EA	0.00	\$1,696.00	\$0.00

Revision 3/23/2023 Page 10 of 21



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
0517-B01	J2P3043	0020	1370	9017006	CABLE, 6 AWG 1 CONDUCTOR	3,090.00	0.00	3,090.00	LF	0.00	\$1.65	\$0.0
		0020	1380	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	2,200.00	0.00	2,200.00	LF	0.00	\$1.00	\$0.0
		0020	1390	9017206	WIRE, 6 AWG, BARE NEUTRAL	1,550.00	0.00	1,550.00	LF	0.00	\$1.65	\$0.0
		0020	1400	9017404	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE	3,270.00	0.00	3,270.00	LF	0.00	\$4.50	\$0.0
		0020	1410	9018245	NEUTRAL, 6 AWG POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	17.00	0.00	17.00	EA	0.00	\$2,318.00	\$0.0
		0020	1420	9019902	MISC.45' TOP MOUNT POLE	22.00	0.00	22.00	EA	0.00	\$3,660.00	\$0.0
		0020	1430	9019902	MISC.COMBINATION PAD MOUNTED POWER SUPPLY AND	1.00	0.00	1.00	EA	0.00	\$10,000.00	\$0.
		0020	1440	9019902	LIGHTING CONTROL,240V LIGHTING ONLY MISC.LED B TOP MOUNTED LUMINAIRE	22.00	0.00	22.00	EA	0.00	\$727.00	\$0.
		0030	1450	9020113	SIGNAL HEAD, TYPE 3T	4.00	0.00	4.00	EA	0.00	\$1,105.00	\$0.
		0030	1460	9020213	SIGNAL HEAD, TYPE 3S	2.00	0.00	2.00	EA	0.00	\$1,062.00	\$0.
		0030	1470	9020513	SIGNAL HEAD, TYPE 3B	20.00	0.00	20.00	EA	0.00	\$1,350.00	\$0.
		0030	1480	9020514	SIGNAL HEAD, TYPE 4B	4.00	0.00	4.00	EA	0.00	\$1,476.00	\$0.
		0030	1490	9020833	SH-FLAT SHEET - SIGNAL SIGN	202.00	0.00	202.00	SQFT	0.00	\$40.00	\$0.
		0030	1500	9020834	SIGNAL SIGN, MOUNTING HARDWARE	24.00	0.00	24.00	EA	0.00	\$300.00	\$0.
		0030	1510	9022651	LUMINAIRE LED-A, 120 VOLT COMPATIBLE	8.00	0.00	8.00	EA	0.00	\$368.00	\$0.
		0030	1520	9022708	POST, SIGNAL 8 FT.	11.00	0.00	11.00	EA	0.00	\$1,090.00	\$0.
		0030	1530	9022715	POST, SIGNAL 15 FT.	2.00	0.00	2.00	EA	0.00	\$1,650.00	\$0.
		0030	1540	9023135	POST, TYPE CL, 35 FT. ARM OR 10.7 M ARM	3.00	0.00	3.00	EA	0.00	\$13,190.00	\$0.
		0030	1550	9023140	POST, TYPE CL, 40 FT. ARM OR 12.2 M ARM	1.00	0.00	1.00	EA	0.00	\$14,346.00	\$0.
		0030	1560	9023145	POST, TYPE CL, 45 FT. ARM OR 13.7 M ARM	1.00	0.00	1.00	EA	0.00	\$15,118.00	\$0
		0030	1570	9023150	POST, TYPE CL, 50 FT. ARM OR 15.2 M ARM	1.00	0.00	1.00	EA	0.00	\$16,500.00	\$0
		0030	1580	9023155	POST, TYPE CL, 55 FT. ARM	2.00	0.00	2.00	EA	0.00	\$18,321.00	\$0.
		0030	1590	9023235	POST, TYPE C, 35 FT. ARM OR 10.7 M ARM	1.00	0.00	1.00	EA	0.00	\$11,488.00	\$0
		0030	1600	9023240	POST, TYPE C, 40 FT. ARM OR 12.2 M ARM	1.00	0.00	1.00	EA	0.00	\$13,248.00	\$0
		0030	1610	9024283	CONTROLLER ASSEMBLY HOUSING, NEMA TS2 CONTROLLER	3.00	0.00	3.00	EA	0.00	\$23,800.00	\$0
		0030	1620	9024330	DIAL-UP MODEM	2.00	0.00	2.00	EA	0.00	\$4,000.00	\$0.
		0030	1630	9024340	SPREAD SPECTRUM TELEMETRY RADIO	2.00	0.00	2.00	EA	0.00	\$2,900.00	\$0.
		0030	1640	9024349	900 MHZ OMNIDIRECTIONAL ANTENNA, 9DB GAIN	2.00	0.00	2.00	EA	0.00	\$1,500.00	\$0.
		0030	1650	9024975	VIDEO DETECTION SYSTEM	2.00	0.00	2.00	EA	0.00	\$38,123.00	\$0.
		0030	1660	9025200	CONDUIT, 2 IN., TRENCH WITH TRACER WIRE	660.00	0.00	660.00	LF	0.00	\$14.00	\$0
		0030	1670	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	540.00	0.00	540.00	LF	0.00	\$15.00	\$0
		0030	1680	9027300	CONDUIT, 3 IN., PUSHED WITH TRACER WIRE	890.00	0.00	890.00	LF	0.00	\$22.00	\$0.
		0030	1710	9028100	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	1,020.00	0.00	1,020.00	LF	0.00	\$1.00	\$0
		0030	1720	9028208	CABLE, 8 AWG 1 CONDUCTOR, POWER	700.00	0.00	700.00	LF	0.00	\$1.50	\$0.
		0030	1730	9028302	CABLE, 12 AWG 2 CONDUCTOR	3,100.00	0.00	3,100.00	LF	0.00	\$1.30	\$0
		0030	1740	9028308	CABLE, 16 AWG 2 CONDUCTOR	4,900.00	0.00	4,900.00	LF	0.00	\$1.15	\$0
		0030	1750	9028310	CABLE, 16 AWG 5 CONDUCTOR	4,990.00	0.00	4,990.00	LF	0.00	\$1.35	\$0.
		0030	1760	9028311	CABLE, 16 AWG 7 CONDUCTOR	11,370.00	0.00	11,370.00	LF	0.00	\$1.50	\$0.
		0030	1770	9028810	PULL BOX, PREFORMED CLASS 1	11.00	0.00	11.00	EA	0.00	\$1,696.00	\$0.
		0030	1780	9028821	PULL BOX, CONCRETE, DOUBLE, TYPE A	2.00	0.00	2.00	EA	0.00	\$5,600.00	\$0.
		0030	1790	9029100	BASE, CONCRETE	41.30	0.00	41.30	CUYD	0.00	\$1,480.00	\$0.
		0030	1800	9029901	MISC.TEMPORARY SIGNALS AND LIGHTING - CHERRY STAGE 2A-B	1.00	0.00	1.00	LS	1.00	\$36,000.00	\$36,000
		0030	1810	9029901	MISC.TEMPORARY SIGNALS AND LIGHTING - CHERRY STAGE 2C-3B	1.00	0.00	1.00	LS	0.00	\$8,000.00	\$0
		0030	1820	9029901	MISC.TEMPORARY SIGNALS AND LIGHTING - NB RAMP STAGE	1.00	0.00	1.00	LS	1.00	\$36,000.00	\$36,000.
		0030	1830	9029901	2A-C MISC.TEMPORARY SIGNALS AND LIGHTING - NB RAMP STAGE	1.00	0.00	1.00	LS	0.00	\$8,000.00	\$0.

Revision 3/23/2023 Page 11 of 21



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note. Posted G		anu vaiu	es ale u	aseu on K	eport Generated date and can differ from the posted amo	unit at the	ine the t	_Stilliate wa	s Gener	aleu.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240517-B01	J2P3043	0030	1840	9029901	MISC.TEMPORARY SIGNALS AND LIGHTING - NB RAMP STAGE 3B	1.00	0.00	1.00	LS	0.00	\$6,000.00	\$0.00
		0030	1850	9029901	MISC.TEMPORARY SIGNALS AND LIGHTING - OLD CAP	1.00	0.00	1.00	LS	1.00	\$30,000.00	\$30,000.00
		0030	1860	9029901	MISC.TEMPORARY SIGNALS AND LIGHTING - SB RAMP STAGE 2A-B	1.00	0.00	1.00	LS	1.00	\$24,000.00	\$24,000.00
		0030	1870	9029901	MISC.TEMPORARY SIGNALS AND LIGHTING - SB RAMP STAGE 3A-B	1.00	0.00	1.00	LS	0.00	\$30,000.00	\$0.00
		0030	1880	9029901	MISC.TRAFFIC SIGNAL MAINTENANCE AND PROGRAMMING	1.00	0.00	1.00	LS	0.00	\$50,485.00	\$0.00
		0030	1890	9029902	MISC.AUDIBLE PEDESTRIAN PUSHBUTTON AND SIGNING WITH VERBAL WALK MESSAGE	16.00	0.00	16.00	EA	0.00	\$1,350.00	\$0.00
		0030	1900	9029902	MISC.COMBINATION PAD MOUNTED 120V/240V POWER SUPPLY AND LIGHTING CONTROLLER WITH UPS	2.00	0.00	2.00	EA	0.00	\$21,000.00	\$0.00
		0030	1910	9029902	MISC.NETWORK CONNECTED SIGNAL MONITOR	3.00	0.00	3.00	EA	0.00	\$1,900.00	\$0.00
		0040	1920	9031010	CONCRETE FOOTINGS, EMBEDDED	2.80	0.00	2.80	CUYD	0.00	\$2,400.00	\$0.00
		0040	1930	9031020	CONCRETE FOOTINGS, BOLT DOWN	37.30	0.00	37.30	CUYD	0.00	\$1,800.00	\$0.00
		0040	1940	9031210	STRUCTURAL STEEL POSTS	1,860.00	0.00	1,860.00	LB	0.00	\$6.00	\$0.00
		0040	1950	9031220	PIPE POSTS	150.00	0.00	150.00	LB	0.00	\$8.00	\$0.00
		0040	1960	9031250A	U-CHANNEL POST, 3 LB	56.00	0.00	56.00	LF	0.00	\$20.00	\$0.00
		0040	1970	9031270A	2 IN. PSST POST - 12 GA.	600.00	0.00	600.00	LF	0.00	\$20.00	\$0.00
		0040	1980	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	39.00	0.00	39.00	EA	0.00	\$200.00	\$0.00
		0040	1990	9031274	CONCRETE POST ANCHOR FOR 2 IN. PSST 7 GA.	4.00	0.00	4.00	EA	0.00	\$400.00	\$0.00
		0040	2000	9031280	2.5 IN. PSST POST - 12 GA.	331.00	0.00	331.00	LF	0.00	\$22.00	\$0.00
		0040	2010	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	19.00	0.00	19.00	EA	0.00	\$300.00	\$0.00
		0040	2020	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	4.00	0.00	4.00	EA	0.00	\$500.00	\$0.00
		0040	2030	9035004A	SH-FLAT SHEET	718.00	0.00	718.00	SQFT	0.00	\$24.00	\$0.00
		0040	2040	9035011A	ST-STRUCTURAL	899.00	0.00	899.00	SQFT	0.00	\$32.00	\$0.00
		0040	2050	9035069A	SHF-FLAT SHEET FLUORESCENT	294.00	0.00	294.00	SQFT	0.00	\$28.00	\$0.00
		0040	2060	9039901	MISC.TUBULAR SUPPORT, TYPE S-2318-55	1.00	0.00	1.00	LS	0.00	\$71,000.00	\$0.00
		0040	2070	9039901	MISC.TUBULAR SUPPORT, TYPE S-27718-62	1.00	0.00	1.00	LS	0.00	\$94,000.00	\$0.00
		0040	2080	9039901	MISC.TUBULAR SUPPORT, TYPE S-27718-70	1.00	0.00	1.00	LS	0.00	\$95,000.00	\$0.00
		0040	2090	9039901	MISC.TUBULAR SUPPORT, TYPE S-27718-72	1.00	0.00	1.00	LS	0.00	\$96,000.00	\$0.00
		0070	2100	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	23.00	0.00	23.00	SQFT	8.00	\$300.00	\$2,400.00
		0070	2110	2061000	CLASS 1 EXCAVATION	274.00	0.00	274.00	CUYD	92.00	\$160.00	\$14,720.00
		0070	2120	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	0.33	\$250,000.00	\$82,500.00
		0070	2130	5031010A	BRIDGE APPROACH SLAB (MAJOR)	424.00	0.00	424.00	SQYD	0.00	\$305.00	\$0.00
		0070	2140	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	2,531.00	0.00	2,531.00	LF	0.00	\$92.00	\$0.00
		0070	2150	7025002	PILE WAVE ANALYSIS	3.00	0.00	3.00	EA	0.00	\$1,000.00	\$0.00
		0070	2160	7027000	PILE POINT REINFORCEMENT	50.00	0.00	50.00	EA	0.00	\$130.00	\$0.00
		0070	2170	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	246.10	0.00	246.10	CUYD	0.00	\$1,105.00	\$0.00
		0070	2180	7034219A	TYPE D BARRIER	1,122.00	0.00	1,122.00	LF	0.00	\$98.00	\$0.00
		0070	2190	7034221	SLAB ON CONCRETE NU-GIRDER	2,494.00	0.00	2,494.00	SQYD	0.00	\$426.00	\$0.00
		0070	2200	7056023	NU 53, PRESTRESSED CONCRETE NU-GIRDER	2,145.00	0.00	2,145.00	LF	0.00	\$375.00	\$0.00
		0070	2210	7061060	REINFORCING STEEL (BRIDGES)	40,780.00	0.00	40,780.00	LB	0.00	\$1.63	\$0.00
		0070	2220	7061070	MECHANICAL BAR SPLICE CONDUIT SYSTEM ON STRUCTURE	1,111.00	0.00	1,111.00	EA LS	0.00	\$65.73 \$14,000.00	\$0.00
		0070				1.00				0.00		
		0070	2240	7123301	STEEL INTERMEDIATE DIAPHRAGM FOR P/S CONCRETE GIRDERS	32.00	0.00	32.00	EA	0.00	\$1,150.00	\$0.00
		0070	2250	7123610	SLAB DRAIN	22.00	0.00	22.00	EA	0.00	\$765.00	\$0.00
		0070	2260	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	0.00	\$6,000.00	\$0.00
		0070	2270	7161000	PLAIN NEOPRENE BEARING PAD	18.00	0.00	18.00	EA	0.00	\$295.00	\$0.00
		0070	2280	7161003	LAMINATED NEOPRENE BEARING PAD (TAPERED)	18.00	0.00	18.00	EA	0.00	\$800.00	\$0.00

Revision 3/23/2023 Page 12 of 21



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note. Posted Q	uanuues	and value	es are b	aseu on R	eport Generated date and can dilier from the posted and	ount at the i	unie uie i	esumate wa	s Gener	aleu.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240517-B01	Project J	2P3043 - To	tal Value	Posted to D	ate as of Report Generated Date							\$3,382,779.81
240517-B01 Ove	240517-B01 Overall - Total Value Posted to Date as of Report Generated Date											\$3,382,779.81

Revision 3/23/2023 Page 13 of 21



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J2P3043

	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0060	2035500	EMBANKMENT IN PLACE	9/17/24	10/1/24	500.00	CUYD	Ramp 1	1+31.00		2+05.00		
0080	2063000	CLASS 3 EXCAVATION	9/17/24	10/1/24	7.00	CUYD	RTE 47 RT	633+18.53		633+34.01		8-2 to 8-1
				10/1/24	41.00	CUYD	RTE 47 RT	636+55.00		634+85.00		8-4 to 8-3
				10/1/24	57.00	CUYD	RTE 47 RT	634+85.00		633+18.53		8-3 to 8-2
0100	2065500	TEMPORARY SHORING	9/30/24	10/1/24	1.00	LS	various					Culvert extensions and any use during bridge construction
0140	2163500	PARTIAL REMOVAL OF CULVERT CONCRETE	9/24/24	10/1/24	0.50	LS	ramp 2/4 culvert extension					North half complete
0150	3030600	FURNISHING ROCK BASE MATERIAL	9/16/24	9/30/24	200.00	SQYD	RTE 47	638+00.00		648+00.00		Bringing total quantity to this area to ~60%
				9/30/24	520.00	SQYD	RTE 47	648+00.00		658+45.84		Bringing total quantity to this area to ~60%
				9/30/24	645.00	SQYD	Frenchman Bluff	937+50.00		938+66.81		Paying ~80% of quantity for this area
				9/30/24	940.00	SQYD	RTE 47	636+00.00		638+00.00		Paying ~60% of quantity for this area
				9/30/24	1,200.00	SQYD	Frenchman Bluff	928+50.00		937+50.00		Paying ~40% quantity for this area
				9/30/24	3,520.00	SQYD	RTE 47	631+26.67		636+00.00		Paying ~60% of quantity for this area
0160	3030610A	PLACING ROCK BASE	9/16/24	9/30/24	200.00	SQYD	RTE 47	638+00.00		648+00.00		Bringing total quantity to this area to ~60%
				9/30/24	520.00	SQYD	RTE 47	648+00.00		658+45.84		Bringing total quantity to this area to ~60%
				9/30/24	645.00	SQYD	Frenchman Bluff	937+50.00		938+66.81		Paying ~80% of quantity for this area
				9/30/24	940.00	SQYD	RTE 47	636+00.00		638+00.00		Paying ~60% of quantity for this area
				9/30/24	1,200.00	SQYD	Frenchman Bluff	928+50.00		937+50.00		Paying ~40% quantity for this area
				9/30/24	3,520.00	SQYD	RTE 47	631+26.67		636+00.00		Paying ~60% of quantity for this area
0210	5021310	CONCRETE PAVEMENT (10 IN. NON-REINFORCED	9/16/24	9/30/24	137.50	SQYD	RTE 47 RT	636+00.00		638+00.00		Adjustment to previously reported quantity after referencing typical section
				9/30/24	191.90	SQYD	Ramp 3	08+99.65		13+96.60		Adjustment to quantity after discussion with KCI
			9/19/24	10/1/24	855.00	SQYD	RTE 47	631+26.67		636+00.00		~Center radius of ramp 3 to halfway to old commercial drive
			9/20/24	10/1/24	571.00	SQYD	RTE 47	631+26.67		636+00.00		~Halfway from radius of ramp 3 to Old Commercial Drive
0310	6091052	CURB AND GUTTER TYPE B	9/17/24	10/1/24	30.00	LF	RTE 47 RT	639+38.53		648+00.00		
				10/1/24	899.00	LF	RTE 47 RT	648+00.00		657+31.53		Have not done radius of 47eb and East Cherry
			9/20/24	10/1/24	55.00	LF	RTE 47	648+00.00		657+31.53		Radius of 47EB and East Cherry
			9/24/24	10/1/24	856.00	LF	RTE 47 RT	639+38.53		648+00.00		
			9/25/24	10/1/24	318.00	LF	RTE 47 RT	632+92.83		636+00.00		
0390	6097000	ROCK LINING	9/17/24	10/1/24	2.00	CUYD	RTE 47 RT	633+18.53		633+34.01		8-2 to 8-1
0420	6122009	IMPACT ATTENUATOR 45 MPH (SAND BARREL ARRAY)	9/26/24	10/1/24	2.00	EA	RTE 47 LT	641+50.00		656+50.00		
0450	6122030	IMPACT ATTENUATOR (RELOCATION)	9/26/24	10/1/24	1.00	EA	ramp 2					
0460	6122040	WORK ZONE CRASH CUSHION (NARROW)	9/26/24	10/1/24	1.00	EA	47/Turnbull/Merlin					
				10/1/24	2.00	EA	Ramp 1&2					
0470	6122041	WORK ZONE CRASH CUSHION (NARROW) (RELOCATION)	9/26/24	10/1/24	3.00	EA	Various					East Cherry/Bluffview, Ramp 1, Old Frenchman
0540	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	9/26/24	10/1/24	23.00	EA	various					61, 47 closure, 2a
0580	6173600D	TEMPORARY TRAFFIC BARRIER, CONT. FURN/RE	9/26/24	10/1/24	400.00	LF	various					
0585	6173700B	TEMP. TRAFFIC BARRIER ANCHORED., CONT	9/26/24	10/1/24	875.00	LF	various					Ramp 2, Ramp 1, 61 Median
0600	6173706	TEMP. TRAF. BARR. STIFF. TRNS. SEC, CONT	9/26/24	10/1/24	212.50	LF	Ramp 2					
0610	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	9/26/24	10/1/24	175.00	LF	East Cherry/Bluffview					
0620	6175011B	RELOC TEMPORARY TRAFFIC BARRIER ANCHORED	9/26/24	10/1/24	600.00	LF	New Frenchman Bluff					
0860	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	9/30/24	10/1/24	0.10	LS	various					
0870	7034041	CLASS B-1 CONCRETE (CULVERTS)	9/24/24	10/1/24	110.50	CUYD	ramp 2/4 culvert extension					North half complete
0880	7061030	REINFORCING STEEL (CULVERTS)	9/24/24	10/1/24	12,225.00	LB	ramp 2/4 culvert extension					North half complete
0890	7201000	MECHANICALLY STABILIZED EARTH WALL SYS	9/16/24	9/30/24	1,052.00 264.00	SQFT	New commercial Drive New Commercial Drive					Paying 80%, still need ends retouched Rosch fixed end caps, paying remainder of quantity
0940	7261018	18 IN PIPE GROUP A	9/17/24	10/1/24	48.00	LE	RTE 47 RT	633+18 53		633+34 01		8-2 to 8-1
0040	7201010	TO MET IN E ORGOT AT	0/11/24	10/1/24	164.00	LF	RTE 47 RT	634+85.00		633+18.53		8-3 to 8-2
				10/1/24	165.00	LF	RTE 47 RT	636+55.00		634+85.00		8-4 to 8-3
1070	7320618A	18 IN, GROUP A FLARED END SECT	9/17/24	10/1/24	1.00	EA	RTE 47 RT	633+18.53		633+34.01		8-2 to 8-1
1150	8061016A	SEDIMENT REMOVAL	9/30/24	10/1/24	1.00	CUYD	Ramp 3	11+52		000.04.01		02.001
1150	3001010	SESTIMENT NEW OFFICE	3/30/24	10/1/24	2.00	CUYD		642+15		644+59		
1800	9029901	MISC.	9/26/24	10/1/24	1.00		East Cherry/Bluffview intersection	042+15		U44+09		
1820	9029901	MISC.	9/26/24	10/1/24	1.00	LS						
1820	9029901	MISC.	9/26/24	10/1/24	1.00	LS						
			0.20.2									
1860	9029901	MISC.	9/26/24	10/1/24	1.00	LS	1 .	000 :		007.5		0.1.479470
2100	2024043	REMOVAL OF MISCELLANEOUS ACM NON-FRIABLE	9/29/24	10/1/24	8.00	SQFT	BR A8736	628+46.86		637+87.36		Only 47WB removed.
2110	2061000	CLASS 1 EXCAVATION	9/29/24	10/1/24	92.00	CUYD	BR A8736	628+46.86		637+87.36		
2120	2160500	REMOVAL OF BRIDGES	9/29/24	10/1/24	0.33	LS	BR A8736	628+46.86		637+87.36		Only 47WB removed.

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023 Page 14 of 21



Property Company Adjustment Company										
N PLACE	Project	Line	Description		Adjustment				Amount	Remarks
S	J2P3043	0060		Material		4		SYSTEM	\$198,057.60	Estimate Item Adjustment (0002) due to user bichsc1 overridding Payment
2024 Spg 3, SYSTEM 6277.632.001 Spg 3, SYSTEM 6277.632.001 Spg 3, SYSTEM 6277.632.001 Spg 3, SYSTEM Spg 4, S						4		SYSTEM	(\$198,057.60)	
Total						5		SYSTEM	\$277,632.00	Estimate Item Adjustment (0002) due to user bichsc1 overridding Payment
Material - Total						5		SYSTEM	(\$277,632.00)	
					- Total				\$0.00	
Aug 16, SYSTEM S26,169.00 SYSTEM S26,169.00 Estimate Exception 2 on the current Payment Estimate Intern Adjustment (offset) the cotional system-generated Material Payment Estimate Intern Adjustment (offset) the cotional system-generated Material Payment Estimate Exception 1 on the current Payment Estimate Intern Adjustment (offset) the cotional system-generated Material Payment Estimate Intern Adjustment (offset) the cotional system-generated Material Payment Estimate Intern Adjustment (offs				Material - To	al				\$0.00	
Aug 16, SYSTEM S26,169.00 EMBANGMENT Aug 16, SYSTEM S26,169.00 Embanagement Substitution Substi		0060 -	Total							
EMBANGMENT								0) (0 === 1.4		
2024 S		0070		Material		4	2024	SYSTEM	\$26,169.00	Estimate Item Adjustment (0003) due to user bichsc1 overridding Payment
2024 Estimate Exception 2 on the current Payment Estimate.							2024		(\$26,169.00)	
1-Total 1-To						5		SYSTEM	\$43,630.00	Estimate Item Adjustment (0003) due to user bichsc1 overridding Payment
Material - Total \$0.00						5		SYSTEM	(\$43,630.00)	
1070 - Total					- Total				\$0.00	
Other Record Race Adjustment Adjustment SUBI 4 Aug 16, bichact \$25,600.00				Material - To	al				\$0.00	
ROCK BASE MATERIAL MIDPA - Total SUBI 4 Aug 16, 2024 SUBI - Total SUBI 4 Aug 16, 2024 SUBI - Total SuB		0070 -	Total						\$0.00	
MDPA - Total SUBI 4		0150	ROCK BASE		MDPA	7		bichsc1	\$25,600.00	NCR 001 has been settled
SUBI-Total (\$32,000.00)			MATERIAL		MDPA - Tota	al			\$25,600.00	
Other Item Adjustment - Total O210 CONCRETE PAVEMENT (10 IN. NON-REINFORCE) O211 SYSTEM S104,148.00 O212 CONCRETE PAVEMENT (10 IN. NON-REINFORCE) O211 SYSTEM S104,148.00 O212 CONCRETE PAVEMENT (10 IN. NON-REINFORCE) O212 CONCRETE PAVEMENT (10 IN. NON-REINFORCE) O213 CONCRETE PAVEMENT (10 IN. NON-REINFORCE) O214 CONCRETE PAVEMENT (10 IN. NON-REINFORCE) O215 CONCRETE PAVEMENT (10 IN. NON-REINFORCE) O216 CONCRETE PAVEMENT (10 IN. NON-REINFORCE) O217 CONCRETE PAVEMENT (10 IN. NON-REINFORCE) O218 SYSTEM S104,148.00 O219 CONCRETE PAVEMENT (10 IN. SYSTEM S104,148.00) O210 CONCRETE PAVEMENT (10 IN. NON-REINFORCE) O210 CONCRETE PAVEMENT (10 IN. NON-REINFORCE) O211 SYSTEM S104,448.00 O212 CONCRETE PAVEMENT (10 IN. SYSTEM S104,148.00) O213 CONCRETE PAVEMENT (10 IN. SYSTEM S1,760.00) O214 CONCRETE PAVEMENT (10 IN. SYSTEM S1,760.00) O215 CONCRETE PAVEMENT (10 IN. SYSTEM S1,760.00) O216 CONCRETE PAVEMENT (10 IN. SYSTEM S1,760.00) O217 CONCRETE PAVEMENT (10 IN. SYSTEM S1,760.00) O218 CONCRETE PAVEMENT (10 IN. SYSTEM S1,760.00) O219 CONCRETE PAVEMENT (10 IN. SYSTEM S1,760.00) O219 CONCRETE PAVEMENT (10 IN. SYSTEM S1,760.00) O210 CONCRETE PAVEMENT (10 IN. SISTEM S1,760.00) O210 CONCRETE PAVEMENT (SUBI	4		bichsc1	(\$32,000.00)	2000 SQYD disputed quantity per NCR 01
CONCRETE Material					SUBI - Total				(\$32,000.00)	
CONCRETE PAVEMENT (10 N. NON-REINFORCED Sep 3, 2024 SySTEM \$45,375.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 3 on the current Payment Estimate Exception 1 on the current Payment				Other Item A	djustment - T	otal			(\$6,400.00)	
PAVEMENT (10 N.NON-REINFORCED		0150 -	Total						(\$6,400.00)	
Sep 3, 2024 SYSTEM (\$45,375.00)		0210	PAVEMENT (10 IN. NON-	Material		5		SYSTEM	\$45,375.00	Estimate Item Adjustment (0004) due to user bichsc1 overridding Payment
2024 Estimate Item Adjustment (0002) due to user bichsc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.			REINFORCED			5		SYSTEM	(\$45,375.00)	
2024						6		SYSTEM	\$104,148.00	Estimate Item Adjustment (0002) due to user bichsc1 overridding Payment
2024 Estimate Item Adjustment (0001) due to user bichsc1 overridding Payment Estimate Exception 1 on the current Payment Estimate. 7 Oct 1, 2024 \$0.00 -Total \$0.00 Material - Total \$0.00 CURB AND GUTTER TYPE B 6 Sep 16, 2024 \$21,336.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 6 Sep 16, 2024 \$21,336.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate Exception 4 on the current Payment Estimate. 7 Oct 1, SYSTEM \$81,760.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate. 7 Oct 1, SYSTEM \$81,760.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 4 on the current Payment Estimate.						6		SYSTEM	(\$104,148.00)	
CURB AND GUTTER TYPE B						7		SYSTEM	\$100,480.38	Estimate Item Adjustment (0001) due to user bichsc1 overridding Payment
Material - Total \$0.00						7		SYSTEM	(\$100,480.38)	
Sum					- Total				\$0.00	
O310 CURB AND GUTTER TYPE B Material 6 Sep 16, 2024 Finis adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user bichsc1 overridding Payment Estimate Exception 4 on the current Payment Estimate. 6 Sep 16, 2024 7 Oct 1, 2024 SYSTEM \$81,760.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bichsc1 overridding Payment Estimate Item Adjustment (0002) due to user bichsc1 overridding Payment Estimate Exception 4 on the current Payment Estimate. 7 Oct 1, SYSTEM (\$81,760.00)				Material - To	al				\$0.00	
O310 CURB AND GUTTER TYPE B Material 6 Sep 16, 2024 Finis adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user bichsc1 overridding Payment Estimate Exception 4 on the current Payment Estimate. 6 Sep 16, 2024 7 Oct 1, 2024 SYSTEM \$81,760.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bichsc1 overridding Payment Estimate Item Adjustment (0002) due to user bichsc1 overridding Payment Estimate Exception 4 on the current Payment Estimate. 7 Oct 1, SYSTEM (\$81,760.00)		0210	Total						\$0.00	
2024 7 Oct 1, 2024 881,760.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bichsc1 overridding Payment Estimate Exception 4 on the current Payment Estimate. 7 Oct 1, SYSTEM (\$81,760.00)			CURB AND	Material		6		SYSTEM		Estimate Item Adjustment (0003) due to user bichsc1 overridding Payment
2024 Estimate Item Adjustment (0002) due to user bichsc1 overridding Payment Estimate Exception 4 on the current Payment Estimate. 7 Oct 1, SYSTEM (\$81,760.00)						6		SYSTEM	(\$21,336.00)	
						7		SYSTEM	\$81,760.00	Estimate Item Adjustment (0002) due to user bichsc1 overridding Payment
						7		SYSTEM	(\$81,760.00)	·



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3043	0310	CURB AND	Material	- Total				\$0.00	
		GUTTER TYPE B	Material - To					\$0.00	
	0310 -	· Total						\$0.00	
	0330	FURN. TYPE 2 ROCK DITCH LINER	Material		5	Sep 3, 2024	SYSTEM	\$2,371.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user bichsc1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					5	Sep 3, 2024	SYSTEM	(\$2,371.60)	
					6	Sep 16, 2024	SYSTEM	\$2,371.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user bichsc1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					6	Sep 16, 2024	SYSTEM	(\$2,371.60)	
					7	Oct 1, 2024	SYSTEM	\$2,371.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user bichsc1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					7	Oct 1, 2024	SYSTEM	(\$2,371.60)	
				- Total				\$0.00	
			Material - To	al				\$0.00	
	0330 -	· Total						\$0.00	
	0390	ROCK LINING	Material		7	Oct 1, 2024	SYSTEM	\$204.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user bichsc1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					7	Oct 1, 2024	SYSTEM	(\$204.00)	
				- Total				\$0.00	
			Material - To	al				\$0.00	
	0390 -	· Total						\$0.00	
	0430	IMPACT ATTENUATOR 60 MPH (SAND	Overrun	Overrun	6	Sep 16, 2024	SYSTEM	(\$8,000.00)	
		BARREL		Overrun - To	otal			(\$8,000.00)	
		ARRAY)	Overrun - To	tal				(\$8,000.00)	
	0430 -							(\$8,000.00)	
	0500	MANHOLE FRAME AND COVER, TYPE 1- B	Material		3	Aug 2, 2024	SYSTEM	\$665.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bichsc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Aug 2, 2024	SYSTEM	(\$665.00)	
				- Total				\$0.00	
			Material - To	al				\$0.00	
		· Total						\$0.00	
	0540	TEMPORARY LONG-TERM RUMBLE STRIPS	Material		7	Oct 1, 2024	SYSTEM	\$13,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user bichsc1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
		SINIFS			7	Oct 1, 2024	SYSTEM	(\$13,800.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0540 -	Total						\$0.00	
	0600	TEMP. TRAF. BARR. STIFF. TRNS. SEC, CONT	Material		7	Oct 1, 2024	SYSTEM	\$13,175.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user bichsc1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
		CONT			7	Oct 1, 2024	SYSTEM	(\$13,175.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0600 -							\$0.00	
	0870	CLASS B-1 CONCRETE	Material		7	Oct 1, 2024	SYSTEM	\$98,897.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bichsc1 overridding Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3043	0870	(CULVERTS)	Material						Estimate Exception 13 on the current Payment Estimate.
					7	Oct 1, 2024	SYSTEM	(\$98,897.50)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0870 -	Total						\$0.00	
	0880	REINFORCING STEEL (CULVERTS)	Material		7	Oct 1, 2024	SYSTEM	\$122.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user bichsc1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
				7 Oc 20			SYSTEM	(\$122.25)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0880 -	Total						\$0.00	
	0890	MECHANICALLY STABILIZED	Material		7	Oct 1, 2024	SYSTEM	(\$52,640.00)	
		EARTH WALL SYS		- Total				(\$52,640.00)	
			Material - To	tal				(\$52,640.00)	
	0890 -	Total						(\$52,640.00)	
	0900	12 IN. PIPE CULVERT GROUP B	Material		6	Sep 16, 2024	SYSTEM	\$19,652.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user bichsc1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					6	Sep 16, 2024	SYSTEM	(\$19,652.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0900 -	Total						\$0.00	
	0910	18 IN. PIPE CULVERT GROUP B	Material		6	Sep 16, 2024	SYSTEM	\$22,610.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bichsc1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					6	Sep 16, 2024	SYSTEM	(\$22,610.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0910 -	Total						\$0.00	
	0930	12 IN. PIPE GROUP A	Material		3	Aug 2, 2024	SYSTEM	\$3,280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user bichsc1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	Aug 2, 2024	SYSTEM	(\$3,280.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0930 -	Total						\$0.00	
	0940	18 IN. PIPE GROUP A	Material		3	Aug 2, 2024	SYSTEM	\$83,470.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user bichsc1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Aug 2, 2024	SYSTEM	(\$83,470.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0940 -	Total						\$0.00	
	1070	18 IN. GROUP A FLARED END SECT	Material 3 Aug 2, 2024 SYSTEM		\$2,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user bichsc1 overridding Payment Estimate Exception 4 on the current Payment Estimate.			
			3 Aug 2, SYSTE 2024				SYSTEM	(\$2,600.00)	
		- Total						\$0.00	
			Material - To	tal				\$0.00	
	1070 -	Total						\$0.00	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
2P3043	1120	SEDIMENT TRAP ROCK	Material		5	Sep 3, 2024	SYSTEM	\$137.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user bichsc1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					5	Sep 3, 2024	SYSTEM	(\$137.00)	
					6	Sep 16, 2024	SYSTEM	\$137.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user bichsc1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					6	Sep 16, 2024	SYSTEM	(\$137.00)	
					7	Oct 1, 2024	SYSTEM	\$137.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user bichsc1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
					7	Oct 1, 2024	SYSTEM	(\$137.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	1120 -	Total						\$0.00	
	1130	ROCK DITCH CHECK	Material		5	Sep 3, 2024	SYSTEM	\$320.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bichsc1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					5	Sep 3, 2024	SYSTEM	(\$320.00)	
					6	Sep 16, 2024	SYSTEM	\$320.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user bichsc1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					6	Sep 16, 2024	SYSTEM	(\$320.00)	
					7	Oct 1, 2024	SYSTEM	\$320.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user bichsc1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
					7	Oct 1, 2024	SYSTEM	(\$320.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	1130 - Total							\$0.00	
	1210	CONCRETE PAVEMENT (10 IN. NON- REINFORCED	Material		6	Sep 16, 2024	SYSTEM	\$381,570.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user bichsc1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	Sep 16, 2024	SYSTEM	(\$381,570.75)	
					7	Oct 1, 2024	SYSTEM	\$381,570.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user bichsc1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					7	Oct 1, 2024	SYSTEM	(\$381,570.75)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	1210 -							\$0.00	
	1260	GUARDRAIL TYPE D	Construction Stockpile STMI		5	Sep 3, 2024	SYSTEM	\$1,082.50	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$1,082.50	
			Construction	onstruction Stockpile STMI - Total					
		Total						\$1,082.50	
	1270	MGS GUARDRAIL	Construction Stockpile STMI		3	Aug 2, 2024	SYSTEM	\$21,479.63	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total	- Total			\$21,479.63	
			Construction	Stockpile S	ΓΜΙ - Total			\$21,479.63	
	1270 - 1280	Total MGS DOUBLE	Construction Stockpile STMI		3	Aug 2,	SYSTEM	\$21,479.63 \$1,080.50	Payment Estimate Item Adjustment generated Stockpile Transaction
	1200	FACED GUARDRAIL		- Total		2024	STOTEM		. symmetric territorial delibration delibration of the state of the st
				- Total				\$1,080.50	



ct	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
43	1280	MGS DOUBLE FACED GUARDRAIL	Construction	Stockpile S1	ГМI - Total			\$1,080.50	
	1280 -	Total						\$1,080.50	
	1290	MGS VERTICAL CONCRETE	Construction Stockpile		3	Aug 2, 2024	SYSTEM	\$4.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		BARRIER TRANSITION	STMI		4	Aug 16, 2024	SYSTEM	\$8,696.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$8,700.00	
			Construction	Stockpile S	MI - Total			\$8,700.00	
	1290 -	Total						\$8,700.00	
	1300	MGS END ANCHOR	Construction Stockpile STMI		4	Aug 16, 2024	SYSTEM	\$5,280.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$5,280.00	
			Construction	Stockpile S1	「MI - Total			\$5,280.00	
	1300 -							\$5,280.00	
	1310	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile STMI		5	Sep 3, 2024	SYSTEM	\$15,000.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)		- Total				\$15,000.00	
			Construction	Stockpile S1	「MI - Total			\$15,000.00	
	1310 -							\$15,000.00	
,	1320	TYPE B CRASHWORTHY END TERMINAL	Construction Stockpile STMI		5	Sep 3, 2024	SYSTEM	\$16,000.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$16,000.00	
			Construction	Stockpile S1	「MI - Total			\$16,000.00	
	1320 -				_		0) (0 === 1	\$16,000.00	
	1800	MISC.	Material		7	Oct 1, 2024	SYSTEM	\$36,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user bichsc1 overridding Payment Estimate Exception 25 on the current Payment Estimate.
					7	Oct 1, 2024	SYSTEM	(\$36,000.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	1800 -	Total						\$0.00	
	1820	MISC.	Material		7	Oct 1, 2024	SYSTEM	\$36,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user bichsc1 overridding Payment Estimate Exception 26 on the current Payment Estimate.
					7	Oct 1, 2024	SYSTEM	(\$36,000.00)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	1820 -	Total						\$0.00	
	1850	MISC.	Material		7	Oct 1, 2024	SYSTEM	\$30,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user bichsc1 overridding Payment Estimate Exception 27 on the current Payment Estimate.
					7	Oct 1, 2024	SYSTEM	(\$30,000.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	1850 -	Total						\$0.00	
	1860	MISC.	Material		7	Oct 1, 2024	SYSTEM	\$24,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user bichsc1 overridding Payment Estimate Exception 28 on the current Payment Estimate.
					7	Oct 1, 2024	SYSTEM	(\$24,000.00)	
				- Total				\$0.00	
			Material - Tot					\$0.00 \$0.00	

Oct 3, 2024



Line Item Adjustments by Estimate

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3043 2	2200	NU 53, PRESTRESSED CONC NU- GIRDER	Stockpile STMI		6	Sep 16, 2024	SYSTEM	\$248,790.18	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$248,790.18	
			Construction	Stockpile S	ГМI - Total			\$248,790.18	
	2200 - Total							\$248,790.18	
J2P3043	- Total							\$250,372.81	
Overall -	Total						\$250,372.81		



Contract Adjustments for Contract - 240517-B01

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
7	J2P3043	Incentive	OTHR	\$35,000.00	100	Oct 1, 2024	bichsc1	According to paragraph 3.0 of JSP Q - Liquidated Damages/Liquidated Savings Specified - Bridge Demolition (2 Occurrences), the contractor is due an incentive of \$7,000 for completing the work up to 5 hours early.
								The contractor closed Highways 47 and 61 on September 27 at 10:00 PM and reopened the road on September 29 at 4:00 PM. That is six full hours ahead of the required completion of September 29 at 10:00 PM.
								This documents the payment for five units of time at a rate of \$7,000. This will result in total incentive payment of \$35,000 for JSP Q to be paid to the contractor on Estimate Number 0007.
7 - Total					\$35,000.00			
Overall -	Total				\$35,000.00			

Revision 3/23/2023 Page 21 of 21